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3 MWn: comparison of DYWTP vs. "NN
a  “power” of p’w77. DWTP can generate NN, NaX and partners can designate D*w7p, 0121 and limbs can be vTYMN
b “power” of 710 applies to »ap n”ya, when redeemed, may not be sheared or worked,
i 7 Pm:anw for nmnn only
1 Source: i (v. 1)
2 Meaning of 7102 2. various explanations
(a) prm if he thought he was allowed to be 1nn — N5 for Mnn but not for v1pn (e.g. if it was nya)
(i) Alternate version: in re: NN — it is W1Ip; in re: VIPN — not WVITP
(b) 571 2. if he erred and said o'n%w nnn instead of Ny NN
(i) Alternate version: ®RYW NMNN is WNP; just DNV - not WVITP (requrie PNY 125 1)
(if) Alternate version: if he wanted to say “black” but said “white” — only N, in re: nmnn (n”y1)
(c) 77 in nnn, if he thought he could successfully replace; in mw1p, if he thought he could eat wTpn
that got a o without 19
(d) nww 7. if he intended to go into a house and nn, then he went in an did so nyTY RH®
C IYON T DIIMTIRY DIVMIV AT R¥Y ,N9MV TR cannot become DMWITP as NN nor generate NMINN
i Per: YR1mWY’s explanation of pw»Tpmy pwITH
ii ~ »”r only way for N0 to be “not vnn” is if animal is W1pn then becomes na™v
1 And: only way for 1977 R¥v to be under consideration is if he was 121p v>7pn then it came out via C-section
2 However: X0 0891 can only be ow1p »19m, following T’ 3 who allows nmnn from owTp 119oM
iii 9”7 R™’s rationale — these five are similar to nknv nnna
1 Just as: nRnY NnNa cannot be brought on narn and qun NWITP cannot take effect on it
2 Similarly: these five cannot be brought on nam - nmnn cannot take effect on them
(a) Question (8375 977): that reasoning doesn’t fit — after all, n”pa is not 17p yet nv17p takes effect on it
(i) Answer: n"pahas other animals of its type offered
1. Challenge: N9 also has animals of its type offered, yet nwyTp doesn’t take effect
(if) Rather: these are like kN Nnna in that they are qun 5109, unlike n”ya (just a “deficiency”)
1. Challenge (875 77): V191 Y17V (V. 2) are D10 *9Y1 — and that is 910 509
(iii) Rather: nknov nnna has nothing offered n1na, unlike n”ya
1. And: namv isn’t a challenge; more similar to nknv NnNI, as neither may be eaten (unlike n”ya)
HRIVY: if someone is V1PN a N9MY, it requires a o in order to redeem it (i.e. has 910 nVYTY)
a  Implication: we may redeem n*w1p in order to feed them to dogs (which is what we do with na»v)
b Correction: YR1mw’s ruling — nw1Tp holds and it must be killed (and buried — not fed to dogs)
¢ Dissent (8ywix 77): being w*1pn a 197V is akin to being v 1pn wood or stones — meaningless
d  Challenge (to 5810®): any D*w1p that became 1910 may not be redeemed, as we may not redeem n>w1p to feed to dogs
i Implication: if they had been nav originally, we may redeem them (>nwy1p takes effect as n»an p12)
ii  Defense: perhaps this Rin holds that if the body isn’t fit for the nam, 910 NwVITH cannot be Yn
e  Challenge (to 5x10®): R"'s ruling about the 5 n”mos, per YR1NY’s explanation and n™’s clarification
i Implication: if it were a N9V originally, no 90 nwyTp falls on it
ii  Defense: perhaps this Rin also holds that if unfit for nam, 91n nv1Tp doesn’t fall on it
1 And: SR holds like 1327 of R
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